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Choose the correet answer for cach of the questions from 1 to 5

L 9 o4l 5 wiieT aferb! 29 w5 Seaghl @k e

.- IF'the roots of the quadratic cquation ax* + Ay +¢=0. (a+0) arc cqual,

then

I ax’+bx+e =0.I (a0) Fare Aillela FER W &, (o3
(@ p* —dac>0

A B esturel
(€ b —4ac=0

(@) b* —dac#0 |

. ] -
2 . I suzﬂ=3. 0° <@ <90°. then the value of ¢ is
~ 1 ,
qW .wn0=-,;. 0" <0<90" (CEEE (09 90 29
(a)  30°
(b) 45
B14-GM (2]

© 60 '

(d)

~.]
h

The mode of the distribution 4, 5. 6, 3.4, 5.2, 8, 4, 2 is

4.5.6.3. 4. 5.2, 8. 4. 2 Rewwidm @ T4 ¢

(@ S
() 45
() 4
(d) 8§

If lor any cvent £, P(E):O-]l, when ‘7 means “an cvemnt

happening £" then the vatue of P(I? ) is

o Al £ A @ PE)=0-11 XA, MW E @ £ <0 0
e P(E) 3 W 29

() 1-00

B14-GM (3]



(b)  9.99 | S -
oI d={pg.r L, then write the set P(A)

) 0-89 | . W A= p.g,r ). omerE P(4) wEed

1.0

it f’[,l')=.1:3“51'1+71'+3. (w2 P(-2) 79w e 2

3 The dis o ol e b 3 1 |
2. The distance of the point (-3, 4) from the origin is

I 8. I p (;.;): = 3v° + 7y +3. then what will be value of P(—-l) ?

:Fi ﬁ_ﬂ W I-—-ﬂ e i * | ]
a1 J'-“ R AL Y, Write down the quadratic equation whose roots are 3 and -3,
() | -3 97 T TRl e e
by 7
the surface area of the cuboid of length 8enm. breadth dem
1y
o 1 Jem. |
3R, 6 (o e i 3 (s wEen e TR
(d) 3 ' '
‘ind the Median of the following distribution
: 15, 8, 10,6, 12, 11,4, 7.3, 9
0. i ;l={q, boe.de fiand B={a b d, [ find B- A 1 | |
- | et feremiom v fada =4
M A= {H. b, ', ff. E, J‘ } e B = {ﬂ' b_ d, f} ‘@’ B %Fl-q &4
‘ 15, 8, 10,6, 12, 11, 4 7, 3, 9
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12, If the Mean of 15, 12, » 10.

16, 19 is |2.

4

of x?
l

a7 15, 12, x, 10, 16. 19 e 1412 T, (0% x O e By

13. Are the two points A(~4,5) and B(2,5) on a line parallel to the

x-axis ?

]

A(~4,5) W% B(2, 5) R 551 x-wpa i q@tre IR ¥

14, If x:y=2:3, then find the value of M2y I
2x+35y

I

ﬂfﬁx y=2:3, (._rfif‘n+21
2%+ 5y

q i g =1 |

what is the Vill[lL!ﬁ,

17,

i . . |
IT the roots of the quadratic equation 2x” =10x+ K =0 are 2 and 3, L

o !
what will be the value of K7

o 2x2 —10x + K =0 7R 41 701 2 U 3 T, (Oreed K 4 5 R

|
748

J

If A={1,23,4,5}, B={3.45710} and C={1,2,3,7} st
that
|
i A4={1,2345}, B={3,45710} W% c={1,237} @
&l @
-(BUC)=(4-B)N(4-C) i

18. The points A, A" are symmetrical about a line / and / interseets Az

I5. If A={xeN:l<x<6}and B={xeN :x <3}, then find » (4xB).

I
W A={xeN; ]{1{6}%8 {re‘f 53} (502 n (Ax B) @efy
Sall |
B14-GM
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the point M. I P is any point on the line /. prove lh1t £ APM = L»I

A, A" G o) ] @l AT TR | ] @A A4 TF M e (=7 T
P il | RLSES A (908 o 9 (3 £APM = LA'PM

[7] Ce




9. Eis the point of intersection of the line segmcnl':i AB and CD such tha| 22

AEAC~ AEBD ., If (C4=8§ em, BD=4em, CE=6.5¢m  and
EB=2-8cm, Find AL and ED. 2
23,
AB = (D @ (T L AT AEAC ~ AEBD, 3% (4 =8 55
BD =4GR, CE=6-5¢ER, EB=2.8¢f. rori AF wa ED g o
o 2*1
UGN
.l a b, e dare in proportion, prove that
| 25,
A a, b, c. d W =2 FAfeE Th, o o 7= @
2a+3b _2e+3d
2a-3b 2e-34 :
20,

The lengths of two adjacent sides of a parallelogram are Sem and 3-6em

respectively and the length of one of its diagonals is 6-5em. Construct
the parallelogram. 2

F o

1% <5 S W6l b4l Sbf A W GOE 555w 346 (Gl G

G G 7 6.5 (8L (20T AR vie o |

+GM 8]
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Construet a square ol sude 3em.

i i v

o Pt Y o = -
3(E e (A g 49 Gul i)

[ the surface area of a sphere is 3544 em™, find its diameter, .'i

- S ! ~ _ . - _
GBI (siiFed uEE 5344 9o (gl A, ERTLE anm el @

One card from a well-shuffled pack of plaving cards is drawn out. Fing
the probabilities so that the card becomes the king of Diamonds.

AR €l weNE e e Pive Geire el @l e 2 | e fd
4l 4 Mol FoE 5ER T
I a point (x, v) is equidistant from the twa points (3, 6) and (=3, 4) thel

find the relation between v and y

<R, CEOE X O

57 (x,v) 7@ (3, 6) T (-3, 4) & 7@ 77| A

—
1 WEE AEED] T

Solve

.
v +(2a—3b)x = 6ab
Construct an angle of 1200 with the help of ruler and compas

only.

Al U FAE 40 SF @Bl 1207 siAd @l T @) |
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28, Some ol the transactions of the Savings Bank account of Paran Chaliha
arc given below. [ the interest is caleulated afier the month of September
every vear and the rate of interest is 4.3%; per annum. how much will
he carn as interest i his bunk account on the first day of October of that
vear ) 3

“fele| B e | Bl g RN i off wme f 2A o
9l TR (5L IR (TS e 2Bl T U TR YA 4. 5% T, (T
T3 TR AL AT (Y€ A G Zpiefe Rewm Bl e fabiA il g

Date Particulars | Withdrawals Deposits Balance
GG e ol % 3[4
BBy Cash
03.02,12 | - . _
i o et G0k Wy
1707 12 By Cash
GRS P ﬁm,:gl e 400 1000
07.03.12 | 10 cheque 200 - 300
(54 97
- By Casl
22,0312 | 2 2 > 700 1500
«15lv TZ5109
080412 | DY Cash = 300 2000
47 Z5iA
05.05.12 | ~© chedue 400 - 1600
554 5
By Cash
D3.07.12 ” — 1000 2600
we 251
| By Cheque
02.09.12 - 1000 3600
(544 Bl
B14-GM v 10]

29, Prove that the cqual chords of a circle are equidistant from the cen

o] 771 @ 98 O TR GIER (@9d 74 T

30, M a+f=90",and @: f=1:2, find sina : sinf.

W oa+f=90" uF a: f=1:2 (0T sina : sinfi 7z z=)

31. 25ke. of rice are needed to feed 10 persons in & month. Supposing
each of the persons consumes the same quantity of rice in cach meal
with the help of variation the quantity of rice (in kg.) needed (o

12 persons for 15 days. [ 1 month = 30 days |

10 & TS WIS 25 RrEle BIeeR HrEen 2| AT deen

oiffo ol 4 4 4R, 12 v g 15 T e e (e

e 7' nad o we fef @ (e = 30 )
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restdent of India, for the fmancial year 2007-08 was Rs.

his income tax for the assessment vear 2008-09 given the following slabs

for computation of income (ax

(a

(h)

(c)

(d)

(e)

B14-GM

[ncome Slab

Upto Rs, 1,10.000

Irom Rs, 1.10,001 to 1,50,000

Irom Rs. 1.50.001 to 2,50.000

Fducation Cess

Secondary and Higher Education Cess

[12]

net taxable income from salary of Mr X age 51 vears and a permanent

Rate of tax

Nil

1024

20%%

f
“"H{]

199

Downloaded fro

2.23.000. Find

.
l--\’-’
i

A,

' = L % = 3 ||
3] e wAE TEeA T Sl e X wE 2007-08 @8k e AR
wE (T A 7E Sl 2.25.000 B | (3€2 2008-09 % FEEd
a7 wifeed femaer 54 el <, wfng o Feetea e oidramar <o T 4

LTy

TAETa %9 F49 e
) 1.10,000 G - E
;/w,: 1.10.001 T =31 1.50.000 G . 10%
€ 1.50.001 5 7 2.50.000 5T | 20% |
(d) TrE a 2%
(0) IR T Tn R 9 ' 19

The lengths of two parallel chords of a circle are Sem and Hem and
distance between the chords is 3em. Find the radius of the cirele.

. - & Srk 5 T et
PR J{*.Tm Y |1 (A T AT S a4 3 (B T A g

A e @)

The vertex of a tree standing just on the bank ol a river makes an a
of elevation of 60 with a point located just ou the opposite bank o!
river, The vertex of the tree also makes an angle of clevation of 30
point located at a distance of +0m {rom the first point at the backy
direction. 1" the two points and the foot of the tree lie on the s
horizontal line, lind the height of the tree and the breadth of the ri

B4 GM [13] Ca
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Wl Qe b e U I GOl e Al fis faeidie oiqe ﬁf ‘1’22 3: lhc marks obtained by the students of a class in Mathematics ar
eI 4 famrE 60° T @ Seolf 79| 92 R o 40 fz?rtfﬁm

A YT T e g AdE T @ 30° |l T 551 w1 st AR

below, Iind the Mode of the distribution.

B (ETE WAL =M Sifed T G daed | BEreenE i <

G TGYE TR U, (28 SISl U R 2 (45)
[t =

35| 3600

35, Find the ratio in which the point of intersection of the x-axis and the line

ségmunt which joins the points (3, 5) and (2. -7) internally divides the

line segment. Also find the coordinates of the point. 4

(3.3) I (2, -7) R AT @ees g 7 e @t o
TP Bt w el =4 | e (ig o Tmice Rl 7 |

36. Iow many metres of cloth 3m wide, are needed to make a conical tent

of base radius 7m and height 24m ? 5

718, g i 2415, Tos X WA T b e Rl S, o
fei b =i et 247 Download
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